M=
@ Multipliser desimaler med 10 100 000 000

StudentName: __ ExamDate: __ ExamScore: ____
2,079 x 1000 = 5,349 x 100 =
1,249 x 100 = 8,292 x 100 =
9,996 x 10 = 1,236 x 10 =
10,71 x 100 = 2,869 x 1000 =
8,082 x 10 = 8,503 x 100 =
5,284 x 100 = 3,091 x 1000 =
1,27 x 1000 = 8,911 x 100 =
5,034 x 100 = 1,4x10 =
6,568 x 10 = 10,039 x 10 =
7,047 x 100 = 8,122 x10 =
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M=t
@ Multipliser desimaler med 10 100 000 000

StudentName: ExamDate: __ ExamScore: ____
2,079 x 1000 = 2079 5,349 x 100 = 534.9
1,249 x 100 = 124.9 8,292 x 100 = 829.2
9,996 x 10 = 99.96 1,236 x 10 = 12.36
10,71 x 100 = 1071 2,869 x 1000 = 2869
8,082 x 10 = 80.82 8,503 x 100 = 850.3
5,284 x 100 = 528.4 3,091 x 1000 = 3091
1,27 x 1000 = 1270 8,911 x 100 = 891.1
5,034 x 100 = 503.4 1,4x10=14
6,568 x 10 = 65.68 10,039 x 10 = 100.39
7,047 x 100 = 704.7 8,122 x 10 =81.22
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